1800

ABHAfKFI1 (ETWS50HC)

18y

Yy7-5ME LG (LH) A3

H1500
12 2290 (e
| BEES | KFTH03937
21280 406 406
2(1) 5 13@160960897 815875 13@160960897 8182 = E_‘m & @
e : ' — = — - L0 h o n/non
@] ‘ ‘ ‘ @ @i L e o o o] o o & ola
- ) @ 9 <
[ \ jl
Q o o | | o o
o f ___E_" 0 =H°°! ké e o o @J e o o o o o 8
N C ) «©
Hl
ol o T .

o o o : - :H . /(

% <t (@) 00| \ || i J:I]: HIEE / F ° ° 0 ° ° ° ° ° °

il B A LLLUUNoEROO NN N L NEENERUEENEN B oo ulooooot

(®) . (®)
& (HHBE (1/15) R
: 2 :
3 i E::::::::::::ﬁa Ei::::::::::::gH”i::::: Bk g it % B B (mm) it i z
1 1 mAH i 0100x50xt3.2 STKR400 EWARE (FapiEiivo- %)
- oo T - GL 2 MR MR 050x26xt1.6 STKMT1ABS "
) 3 M RBER 050x26xt1.6 " "

Slolw - 4 BB t1.6 SGH ]

MO 5 i3 ¥ 030x20xt1.2 ABOB3S-T5 BEBESEE+Y - M T
S 6 R t4.5. 920 SPHC THARE (THBRD- &)
™ 7 € v Y t6. 920 ) )

TN [ M 8 RN $12 - BREHD > &
2B (105 @ 9 3¢ v 4% 20 SR -
St AEAOR o ) 0] & 2 12 £
0550 A ~ N X 11 ¥ L & $13 SGD Brdino &
B BROKEIESETERTT, o :o[ o 12 ZLETL- | w4 SPHC ;
N @ 13 ] BUBA by - - ATV A -
4] #r47 - PVC -
by — 15 274 F2B 13.2 SGMH400184 HEWARER (TaEifin - &)
- >@ 16 A4 FFILE 4.5 " "
L% 73.2 17 NAK L b M10x 75 4,604 AR &
] 18 ] M8x 100 ] ]
NREEAR (1710 19 0 M8x 70 ) )
50 20 » M8x 45 n »
o 21 u M8x 40 n "
46 L0 IA 4—| B 22 ] M8x 20 ] ]
23 b7 A Y M6x 40 ATYUA —
@: - 24 Dz M4x 35 27YLA =
m N 25|  PEyTL-+ 3.2 SGH HEBRERR (THBRY - ©)
o = — 26 YUYy -5t LGYY-X% — J- W8
[
@\ o ,Q — :°[|| E - 27 vy S-8r-A 11.0 SGH HENWAZE (TiBfv- &)
~ Ul 28] Ky sxTL- ¢ t1.0. 6.0 » v
TI' = I 29| Ky rARN-t- t1.6 ] v
[ < [ 30 SRTL- b 12.3 " "
17 [ - - 1 -~ 31 TL- b GED 13.0 RYH-K2- b —
195 S 32 @it @ ., ) -
— oT— 33 SRS K% 11.6 SGH HEWREE (THBHRY- &)
14 5 © | _I_r 34| €7 AVTyYe- M5x 19 A7YL2A -
e " 1) BRARIKAOLY, FELREBTEEAHYET,
@ o A-ASHE © A BREE: vy S-FE. BRERLBYET,
OABR (17100 ™ AN (110 vy 55— (T- W8 LG (LH) vV -Z#ZBAKEL, (Ny 7€y +64mm. EESOmm)

FREOBEW. BIRFI-V VY I IBAEIW,



